
Multiply by 10⁻² (I)Find each product.
2.27 × 10⁻² = 2.1847 × 10⁻² =
8.37 × 10⁻² = 3.519 × 10⁻² =
6.5 × 10⁻² = 2.022 × 10⁻² =
0.0613 × 10⁻² = 8.072 × 10⁻² =
1.322 × 10⁻² = 9.1009 × 10⁻² =
9.7591 × 10⁻² = 5.1 × 10⁻² =
7.83 × 10⁻² = 6.56 × 10⁻² =
2.5 × 10⁻² = 1.5926 × 10⁻² =
7.3 × 10⁻² = 4.7718 × 10⁻² =
3.84 × 10⁻² = 5.95 × 10⁻² =

Math-Drills.Com



Multiply by 10⁻² (I) AnswersFind each product.
2.27 × 10⁻² = 0.0227 2.1847 × 10⁻² = 0.021847
8.37 × 10⁻² = 0.0837 3.519 × 10⁻² = 0.03519
6.5 × 10⁻² = 0.065 2.022 × 10⁻² = 0.02022
0.0613 × 10⁻² = 0.000613 8.072 × 10⁻² = 0.08072
1.322 × 10⁻² = 0.01322 9.1009 × 10⁻² = 0.091009
9.7591 × 10⁻² = 0.097591 5.1 × 10⁻² = 0.051
7.83 × 10⁻² = 0.0783 6.56 × 10⁻² = 0.0656
2.5 × 10⁻² = 0.025 1.5926 × 10⁻² = 0.015926
7.3 × 10⁻² = 0.073 4.7718 × 10⁻² = 0.047718
3.84 × 10⁻² = 0.0384 5.95 × 10⁻² = 0.0595
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